ATW Media LLC KTBB-FM KRWR-FM KYZS-AM PO Box 9400 Tyler, TX 75711 903-593-2519

Client:

Jacob Putman for Smith County DA

Order #:

6081-00002

Description:

Date Entered:

2/15/2018

P.O.#:

Salesperson: Political,

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

Phone/Fax:

903-592-7677

Robin Hood Studios P.O. Box 775 Tyler, TX 75710

On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	M	<u>Tu</u>	W	Th	F	<u>Sa</u>	Su
1	2/19/2018	3/5/2018	KTBB-FM	05;00;00a to 08;00;00a	Weekly	1:00	11	38,00	418.00	1	1	1	1	1	0	0
2	2/19/2018	3/5/2018	KTBB-FM	08:00:00a to 11:00:00a	Weekly	1:00	11	32.00	352.00	1	1	1	1	1	0	0
3	2/19/2018	3/5/2018	KTBB-FM	11:00:00a to 02:00:00p	Weekly	1:00	22	42,00	924,00	2	2	2	2	2	0	0
4	2/19/2018	3/5/2018	KTBB-FM	02:00:00p to 05:00:00p	Weekly	1:00	22	30.00	660.00	2	2	2	2	2	0	0
5	2/19/2018	3/5/2018	KTBB-FM	06:00:00p to 09:00:00p	Weekly	1:00	11	15,00	165 00	1	1	1	1	1	0	0

Order Start Date: 2/19/2018

Order End Date: 3/5/2018

Spots: 77

Total Charges:

\$2,519.00

Combined Discounts:

\$377.85

Total Net:

\$2,141.15

Non-Discriminatory Policy: Gleiser Communications LLC and its stations do not discriminate in advertising contracts on the basis of race or ethnicity. Any provision in any order or agreement for advertising that purports to discriminate on the basis of race or ethnicity, even if handwritten, typed or otherwise made a part of a particular contract, is hereby rejected.

Projected Calenda	ar Month/End-Of-So	chedule Billing Totals for J	lacob Putman for	Smith County DA / 60	181-00002 :
		Spot Count	Gross Billing	Combined Disc.	Net Billing
February	2018	56	\$1,832.00	\$274.80	\$1,557.20
March	2018	21	\$687.00	\$103.05	\$583.95

Confirmed & Accepted for ATW Media LLC By

Accepted for Robin Hood Studios By:

ChrisPlante8:00A-11A MWF 32 11 \$352.0 Rush 11A-2P MWF 42 22 \$924.0 Hannity 2P - 5P MWF 30 22 \$660.0 Mark Levin 4P -7P MWF 15 11 \$165.0												D TOTAL:	\$2,519.00
Rate # Non-Premptable prices for 60s or 30s													
Rate # Non-Premptable prices for 60s or 30s		(VC)									KTB	B TOTAL:	\$2,519.0
S-8 Rate # Non-Premptable prices for 60s or 30s	Mark Levin	4P -7P MWF	15	11									\$165.00
S-8 Rate # Non-Premptable prices for 60s or 30s AM News 5 - 10 MWF 38 11 5-10 Sat 22 0 \$418.00 ChrisPlante8:00A-11A MWF 32 11 \$352.00	Hannity	2P-SP MWF	30	22									\$660.00
S-8 Rate # Non-Premptable prices for 60s or 30s AM News 5 - 10 MWF 38 11 5-10 Sat 22 0 \$418.00	Rush	11A-2P MWF	42	22									\$924.00
S-8 Rate # Non-Premptable prices for 60s or 30s	ChrisPlante	8:00A-11A MWF	32	11									\$352.00
S-8 Rate # Non-Premptable prices for 60s or 30s	AM News	5 - 10 MWF	38	11		5-10) Sat	22	0				\$418.00
KTBB - 600 AM		5-8	Rate	#	Non-	Prempta	ble pric	es for 6	0s oi	30s			
	KTBB -	600 AM											
					1 1								
	Jacob I	⊃Utman - F	Radi	o 20	18 Po	litical							

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicabl	le box) EDERAL CANI	DIDATE	□ STAT	E/LOCAL CA	NDIDATE
	Themselves C Federal Cand				
Station and	3 Tul	ler, T	(Date:	6/18
being/on bel	bin Hoo malf of: Jac	ob Pu	tman	2	
political part	lified candidate	of the <u>K</u>	Count	y DA	
election to be	e held on:			8	
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Sly	e attac	hed			
Attach propo	sed schedule w	rith charges	(if available):		

I represent that the payment for the ab	ove described	broadcast tim	ne has been	furnished
by:				

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

To Be Signed By Station Representative

Director of
Title Adamin Aration

Signature